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Warm-up Geametry R

Unit 2 - Intro to Proofs Test on Thursday
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Part I: Name the following angles using three letters. J/

ZISLAL AS(IB{'\ 48<6£C-
~»{RED < EBF 0 & ECD

mn AR (FERC

a. Name a pair of supplementary angles.

b. Name two straight angles. and

Part III: Angle Addition and Subtraction

a LFBC=/FBE+ ( E %C b. LABF + <FBE = /ZABE
&
2. Solve for x. 3. Given: BD bisccts agc, Find mZ4ABC
4x
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< 10x-5 / 4x+3 » A
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o Geometry Notes Intro to Geo Proofs — 9/10: ProofsaPrea:ctice
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Ex: Given: PIW , GIN, IT bisects /PIG
Prove: ZNIT = ZWIT p G
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Name: Date:

Geometry HW: Intro Geo Proofs — 9 Proof Practice

Determine if each conclusion and reason is True or False. If false, change the conclusion and/or the reason (not the

given).

1. Given: E bisects ZABC

Conclusion: ZBAD = ZBCD because a bisector divides an
angle into two congruent parts

2. Given: mZ1+mZ22 =90 (No diagram for this problem.)

B
A AXG
D
A
- - C
3. Given: AB intersects CD atE
- E
Conclusion: CE = ED because a bisector divides a segment D
B

into 2 = parts

ms3+ms4=90

Conclusion: m21 + m£2 =mZ3 + m24 by the Addition Post.

Write a complete geometry proof for each of #4 - 6:

4. Given: ABCDE , Bis the midpoint of E, AB = DE {Draw your own diagram.)

Prove: BD =CE /\/\
S | R —t—— X —

— D
of Ac, pr = DE

Q\ AR =8Bc ﬂ A caidpt culs o Sean\uﬁ into 12
Seqwnwents

) (_S_; _ ED‘S 3 Trangidive
4 CB_ - 4) Rellg xive
51°P =55 [s)paddion
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~ Given: AABC with right ZACB, CIJL)AB , ZACD =/EDC.
—
Prove: /ECD = Z/EDB S .

September 28, 2015
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3\ {ADC= <BDC 2 g 3 AN r:3h4Lg ore
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6. Given: Z“BAD = ZFAD, BAE , FAC

Prove: DA bisects ZCAE

1

1) Subta ghion
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Geometry HW: Intro Geo Proofs - 10

Write complete geometry proofs for each of the following.

P
1. Given: ABMCD, M is the midpoint of %, PM bisects AD
Prove: A__BEE) A D
B M C
Dy ~1 Anr | Da T
2. Given: AP 1 C4, AN 1 R4
AT hbisects ZPAN.
Prove: /CAT = /RAT P N
A
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3. Given: EAL, NAY , ZPEAis a right angle, ﬁ 1 N_Y, ZNEA = ZNAE N

Prove: /PEN = /PAL

4. Two vertical angles are complementary. What is the measure of each?

5. Given: MATH , Aisthe midpoint of M7, MH =21 and AH = 15. Find the value of TH.

6. Given line [and mZa:mZb:m.Zc = 2:3:4, find the numerical value of m~a.

7. The measure of an angle is 24 degrees less than twice the measure of its supplement. Find the measure of the
angle.
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